L+

55[%5/ 105 £

R RS S T

e =

S8y - BEE (58 1-25)
( )1 x=-3 > y=1RTFyW—{#E —"Jo—RIFEX
figg 2
(A)x+2y=-1
(B)x-2y=1
(C)2x+3y=6
(D)2x -3y =-6

(o :@‘ift[—S—(—ll)]+(g><4) (B 2

A) 1
(B) 16
8
€ -3
128
(D) 3
()3 BFEEx+D)(x—1) — (x* + x—2) AU&ER - BRI
—{EXTFHEE ?
(A) x*-2x+1
(B) x?-2x-3
(C) x*+x-3
(D) x*-3

( )4 WEC)  EXEF AOBHYFEE 10 Agy

Lafg By 54° - RIlERRIPEIfE B2/ 07857 ?
(A) 1007
(B) 207 4 &
(C) 157
(D) 57

\/

0

B(—)

()5 [E(Z)84R LAY A~ B~ C = BEFr ey sy il
Fa~b-c-¥la-b=3-|pb-c=5 > HFEO

B A~ BEVEERESTHIR 4 ~ 1 HIBER O HYALE

N HIRC ] A 7 4 B C.

(A) £ AREE
(B) /it A~ B ZH
(C) /B~ CZMH
(D) ECHIEE

B(=)

( )6. % 18 7 77x®-13x—30 ® A = 4 fE %
(Tx+a)(bx+c) > Hda-b-~ctgBmEE » K
a+b+c Z{H A ?

(A) 0
(B) 10
(C) 12
(D) 22

( )7 E(=) - B - ZWHEEA 20 &M
SR BOERREHRRE - 5~ LW AR
KRB R E Sy B Bsa ~ b gy A e~ d o
AR FIRE R a~ b~ ¢~ d BYRUNBE (7 > (7] & 1

i
(A) a>b>c>d
(B) a>b-c<d
(C) a<b>c>d
(D) a<b->c<d
22 %1
xR =4
# 25 s 25 i
X 20 X 20
T 15 T 15
10 H H 10 H
5 H 5 |—| H
56 7 89 56 789
FZ IR B(K) 1% B B (3R)
(=) B ()

( )8 wWE(H) A F{TIUER ABCD Bl—IF 51
CEFG » H.tfh E BifF AD | » % /ECD =35° >
ZAEF =15° > HI| /B BYREE s {r] 2
(A) 50

A E D
(B) 55 P
(C) 70
(D) 75
B G\/C
B(x)



).

( ) 10.

()11

()12

()13

INF RPN FE R —ASERYEE 1 Hd%R B HE K
lEER—H ER—EE - NEAESIHEF L
H2Z&E—HBNEY /AR — S HIEN
2 PRAESS 1 HE 1 HZRE—-HEE
FoftAERT—HRAVENN 7 - H/ DN FAER HRAVE
F5 101 > FPIiNAE % H S EEOR A 2

(A) 350
(B) 351
(C) 356
(D) 358
R 4 JBER - BACTRIREL ~ 3= Sk B

ZFENA 3 FEEK - BAOITHIRAL ~ 3~ B o /D
FEFT R ERFE ~ W (EFE 7 S Hht—
BR o EFE—AE TP R R E S - Al
Bt L Y A RE R ER AR R B Ry 2

(A)

(B)
(©)

= ~N N o =

(D)

AP B —(E RO R AR EE - It
&7 aEHEa(—3, 0) ~ (0, —5)E: - FIETILEE
BN HIT 0 — &l 5 B AV [ 2 A S BEE 55 =52
PR ?

(A) x—4=0

(B) x+4=0

(C) y-4=0

(D) y+4=0

4018 (75) AABC 1> D ~ E @i %43 HI1E AC ~ BC
> DE % BC iy1#E45 » BD )y ZADE HYfe
IR o 35 LA=58° > HIl ZABD FYIE 8 Fyfn] 7
(A) 58

(B) 59 A
(C) 61

(D) 62 D

B E C

B ()

H—IEJTIPRERE By 20 05897 » AR XA
g3 0 RIXHE S A T AR R (a2 8 e 2

(A) 16 » 17

(B) 17 > 18

(C) 18 > 19

(D) 19 > 20

()14

( ) 15.

( ) 16.

()17,

() 18.

WilE () - 18 O i# 4 117% 72 OABCD U {E TH
el o % ABD =150° » ZA=65° » ZD=60° - I
BC HyREU By 2

(A) 25
(B) 40
(C) 50
(D) 55
E(OE N ZE T ZMERTEARN - T

WA I FE R LA = AP AT > Hor B~ ZRYTEFR
FIEERAPN ~ THYERERD - HRNH—RER 2 B
T HYERRLEARYE RN > AT Ay — e Ryfe] 2

@ >
3 NZ
(B) g
(C) 2-+/3 A
(D) 4-243
B ()
[ (JL)FI4E T ABCD i » E BEFECD - » H

AE<AC - P~ QWi%E43HIfE AD ~ AE
AP:PD=4:1> AQ:QE=4:1>E#%PQ7z AC
A R®E > H Q- R [{BEF CD Y HE 8 45 I B
q-~r ’EUTﬂE%{%_@%HE? b

(A) gq<r > QE=RC E
(B) q<r > QE<RC
(©) q=r > QE=RC
(D) g=r » QE<RC 4

B (/)
CAla~b-~cH=TR%H  Ha  b#iIRKAH

W Fs 12> a~ cHYR AN RE L Ey 18 - 5 a /i 50
i1 100 Z[H] » Rl N AR fe] =& TR 2

(A)8 ZaHyAE » 8 &b HYREL

(B) 8 ZaHyAE > 8~ 2 b HIAE

(C)8 FiZamyRE > 8 & CcHYRE

(D)8 i a A% » 8 /& cHYREL

WE () » A —NEEH /KN E B /KME > fF
5 20 Ny SSE—EHENPIE L > S
30 A5y EILE/KEEHE L KIAE7K
HEE R 12 A5 » /KRB e LR
Ry 201 o S/NE RS 2 KA M > AR
KEEAEKEARMSEE - EAET/KIAER - RIlZKAR
WK =S 8 R 25/ DN o7 2
(A) 4.5

(B) 6

(C)8

(D) 9




() RO RDBEITEEREEAFRE S MAT
FAREHERC —(EPISRA IR T - A EE
BUHvEEE B AN T ¢ s
i A - HliEst s Sl g~ EEH
e > RUAHE - 5/NREEHRERE
B X JT > X By 400 F] 600 7 R > HIFEAR*

& EAth 2 A A T x 20 %)
A S E L BN CELL TR EE ?
(A) 500
(B) 516
(C) 517
(D) 600
F(—)
¥rE LHE
Fiskey A& (L) 400 600
MAT F# /& #(T)| 15000 13000
ERFE AL FERFNATELEAMRE

() 20. %A@ (-+—) » LUSEE ABCD fJ A 5B, » AD £
By BAREEN > 38 AB A F B5: FELLC A[ElL, CD
E R BREI > 32 AB FAE % - # AD =5 >

Eﬁ=%’ﬁﬁfm§§%@?

A
(A) 2
©) E

F
B

D

(D)

W~ W[N

C
B(+-—)

() 2L AMEVHE b o REER TS A2, — 1),
I R R TP B x AR P Q REE 0 A
PQ =6 - Z Itk BE @A , a)~ (3, b)-
(—1, ¢)~(—3, d)UE: - fla-b-c~d2{
{51 B51E 2
(A) a
(B) b
C) c
(D) d

() 22.[E(+)895E ABCD  » E & AB (Y% » A
—[EEC - D~ E=%;> HJLE5TRI8AD ~ BC
FASHA P ~ QB » H ~ Z W AJEHR B B B
020 > EAEEMT :

(FE)E ZDEC #9f5F5345 L » {F DE Hy-hEE4s »
A2 LA OB - HIO BB AR

(2.)iE$% PC ~ QD » Wi4REEACi—B50 » HIJ O H]]
FyFfok

A 200 ANITESE - R AIHIE (A TR 2
(A) T A B IERE
(B) Wi A Erstan
©) WERk -z ApS D
(D) HER » ZIEHE /

0

B(+=)

() 23.4E(+=)  IE/NE2 ABCDEF th > P~ Q&L
5351 AACF ~ ACEF (/.0 %5 AF =25 HI| PQ

R Bof] 2 p F
(A) 1 P
(B) 2
(C)2+/3-2 B E
(D)4-23
C D
B(+=)

() 2441 (1-VU) > OP B—{FRI EAY4H4 » A~ B
®EEOP > HOA:AP=1:3> OB:BP =3:5 -
FS[E E BB - ¥ OB #E[H BP - [f1{5 0B &
FEBP I WM (+F) » PR+ T ABER
Bl A BEER A —FER0RE - AR ES -
Bl = B N BRI B R LG B 1] 2
(A)1:1:1
(B)1:1:2
(C)1:2:2
(D)1:2:5




() 25.41E(+7X) » #8J2 ABCD 1 » M~ E ~ F =Hi{E
AD | N ZAETE R 4RI B - 75 AB =24 »
AD=32> MD=16 - ED=8 > FD=7 - HII %I}
—FREGE A ~ C RUEGAY Sl ?

(A) E4 MN
(B) H4EN A M EF D
(C) B4R FN
(D) E%:DN Al
B C
B (+x

FERy  JREEE (58 128

1. 4@ (++t) > AABC > AB=AC > D E:iff BC I >
/BAD =30° » H ZADC =60° - =% 5¢ #2 % BH Ay {o]
AD = BD #1CD = 2BD [ -

3/4

B(++t)

2. 4@ (+\) » £ ABCD 2—iRiEE ks 12 AR
5 o R EARLE I Y S R AE AR 3% 45 FIE T APDQ
Bl APCR %55 —(# 71#8¥ PQABR - H:}1 PD = 2DQ -
PC=RC>HP-Q- R=%:5AI{£CD + AD - BC [ >
(/)T
(1) & FZHERT# LT APDQES > %5 DQ B B X A%
SR x FE I APDQ HYTHiE -

(2) &) » & xHHE %/ VEE - BT PQABR HYE
A 2 SRR IR OVE R A 2
D P C

N\

0

B (+)

\\\?{r

F N
p ot

E

foen® 2 2% 0 (a+b)? =a® +2ab+b?

4T = 2% 0 (a—b)? =a? —2ab+b?

: a’-b*=(a+b)(a—b)
F3EZATANED ab AEL S onlcial 4D’
Lemasps v My 3o AP =g OF

£ =27xr

v

M- BELHslagiia 245d $¥nkia, -
awNIEfes Sy

E]|Jan=a1+(n_1)d s Sn:@
E- = - % = f#& & ax®+bx+c=0 & 3
X_—bi\/b2—4ac

2a




